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int stalN/, top
int col[N],num
int dfn[N|,low/N]|, tot
int vis|[N
void tarjan(int p
dfn[p/=low|p tot
int i,q
stal++topl=p;vis|p
i=hd[p!;i;i=elil.n
g-elil.e
dfniq!)tarjan(q),low/ p/=min(low/p!, low[q
vis[ql)low|[p/=min(low/p!,lowiq

dfnl[pl==low|[p
num
staltop p
g=staltop
col/q/=num
vis|q
top
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2.p0000000000000 qO000000 low[ql>=dfnp] 00
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int low[N|,dfn[N], tot
int stalN/, top
int cut[N
vector<int>dcc(N|;int dcc _cnt
void tarjan(int p,int f
int q,1i,child=0
stal++topl=p
dfnipl/=low|p tot
i=hd(pl;i;i=eli].n
g-elil.e
g==Tf // avoid return to fa
dfnlq
tarjan(q,p
low/[p/=min(low/p],low!q
low[ql>dfn[pl);// i is cut-edge
low/ g!>=dfn|p
// p is cut of branch g
f licutipl=1
dcc dcc _cnt].pb(p

int r
r=stal top
dccldcc_cnt!.pb(r
r-=q
child

low/p/=min(low(p|,dfn(q

f 1){ // edge case: p is root
child>1)cut[p]=1; // 2 branch in dfs tree
hd[p]==0)dcc[++dcc_cnt].pb(p); // single point

ooogo

goddgoooooooooooa

https://wiki.cvbbacm.com/ Printed on 2022/10/07 12:24


http://acm.hdu.edu.cn/showproblem.php?pid=3394
https://www.luogu.com.cn/problem/P3388

2022/10/07 12:24 3/4

oooo

O0000ebDCCOODOODODOSCCODOOODODODODOODODO
O000pfeDCCOSCCOOODODODODOODODODODOODODOO

gooodad

struct Edge
int e,n
elN
int hd[N], cnt n,m
void add(int a,int b
e cnt].e=b;elcnt].n=hd[a];hd[al=cnt

int stalN/|, top
int col[N|, num
int dfn[N|,low/N]|, tot
int vis|N
int ban[M
void tarjan(int p
dfn[p/=low|[p tot
int i,q
sta top/=p;visip
i=hd[p!;i;i=eli].n
g-elil.e
ban|i
dfnlq
ban|i|=ban|i
tarjan(q),low/ p/=min(low/p!, low[q

vis[ql)low[p/=min(low/p!, lowiq

dfnip low!p
num
staltop p
g=staltop
col/q/=num
vis|q
top

N
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